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FINANCIAI. |
MATHEMATICS

Q.1-

- There are three Major types of bank accounts

Ans.
(i)

(i)

| (i)

Q-

- Ans.

Q3

~ Ans.

Q4-

" Ans.

~ SHORT QUESTIONS

Wh'at"are the major typ'es of bank' accounts? .-

Current Account:-

~This type of account.is w1th hlghest degree of' o
o liquidity: Due to this quahty it is very Popular. T
Saving Account:- - - ro

People keep this- account to deposue the1r savmgs for
long time. This kind of accounts are an important

'source of funds for the ba.nk

" Fixed Acgoun_t_ -

- This is a long time ﬁxed account and a bank gets
- funds for long term lendmg and. mvestment purposes

Define ""Profit on deposnt"

When a bank uses our money in some busmess the |

bank pays some return for using our amount thls return
is called profit on deposit ‘.

Explam the term "Mark up"
When some.person borrows funds from a bank, he has,

to pay some extra amount for using the funds This

extra amourtt is called mark up.

What is the dlfference between snmple and- g
~ compound interest?

Profit on principle amount is called simple mterest If

profit or interest for one year is added to the principle



" Friendly Notes For General Mathemtics © o A : LA

amount then this sum is considered principle for the
next year and the interest on this kind of amount 1s
called compound interset .

| 'Q.'S- "What are the formulas to fmd s1mplé and-

- . compound interest?
Ans. For simple profit, we use formula
| . . 1
Stmple Proﬁt = I?rlnmpa/ jOT;me . Rate

| _For Compund Proﬁt the formula is :

100 + R te]
100

7‘ Proncxpal + Compound Profit = Prmczpal[

; 100 ] |
' Q.6- Res. 4000 were invested at 5% for 3 years Fmd the o
~compound as well as snmple proﬁt -

o . - Rate]™
. or Flnal Amount Prmcxpal I+— 0

'Solutton- | ' SRR ,I |
, Pnncepal Rs. 4000 Tlme 3 years
, Rate 5% " | ,
| Slmple Pro fit = Ppncxpot x-Tlmex Rate
- 100 |
4000x5 ><3 | o ‘
—600 N
100 Ans N
“Now

: : | : SR Time
, Pron01pal+Compound Proﬁt-Pnnc:palx[ 1001-;;{&3:, .

Fmal Amount 4000 [ 100+5J

100 |
' 105 105 105 |
= 4000 =
100 100 100 -Rs 463050
Copound Profit = Rs.4630.50 —Rs. 4000

' -Rs63050Ans ‘
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. Q.7; Write the formulas to finql the mark up on loan for
. annual, monthly or daily bases. |
Amount Borroued x Rate x Years

| Ans Mark up (Per anum) =

| 100 - .
- :
Mark up (P er mon th) _ Amount Borroued x Rate x Months
12x100 . N
Mark up (Per da y)= Amount Borroued x Rate x Days
365x100

Q8- What do you mean by msurance" X . ,
. Ans. Insurance s an agreement between two parties where
) _ by a party agrees to pay an amount by mstallments to
~ an insurance company and the company COVess Or

indemnify the rlses to the hfe or other thmg for whrch .
| . the insurence 1s made N |
' Q.9- What do you mean by leasmg"

~Ans. Lease is a contract where by the owner of an asset

gives the hires the rlght to use the asset for a spec1ﬁed
| period in exchange of rental payment.

Q.10- Define the term "Down Paymént". ,

'. Ans. The payment dep031ted by the customer to the bank

along with the applicatlon form is cal]ed “Down L

. Payment

SOI.VED EXERC,ISE_S

| L EXERCISE 4.1 r
Q.1- - Convert 250 Us Dollars into ster]mg Pound
Solutron - :
Buyrng rate of / Us Dollar Rs 83.800 .
Price of 250 US Dollars =250x43. 800 Rs. 20950
Rate of / Pound =Rs.! 29 7968
There for
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20950
| =————=16/.4060 Pound

| - 250US Dollars 129.2768 had ounes:

: Q. 2-' Convert 5000 Rlyals mto Pak rupee

" Solution:-

Price of 1 Riyal = Rs.22.3449 Pak Rupees |

Pnce of 5000 Rlyal 5000 x 22.3449 Pak Rupees

: f ~ =Rs. 11,7245 -

. Q3 An 1mporter imports a car from Japan for 5000-
 Yen Delivery was to be made after three months »

At the time of contract Rs1 = 0.895236 Yen. At the
 time of delivery Rs 1 = 0. 892236 Yen. Payment was |

o made at the time of contract Detcrmme the profi
| or loss of the importer. -
) Solutlon At the time of contract
0. 895236 Yen = Re I

IYen=R -———I——_ S
R "~ 0.895236
- 5000 Yen=Rs ——-l-—x5000
- 0.895236

5000 Yen=Rs5585.12
 Similarly at the time,of delivery

5000 Yen Rs-————l——— 5000 = Rs 5603 90
0.892236 |

N Therefore Profit = Rs 5603.90 - Rs 5585.12 = Rs 18.78 Ans.”

- Q. 4- A customer wants to convert 150 American dollers.

. into rupees. He goes-to an authorlsed dealer. He
. offers him convers:on at the rate of 1 doHar =
. Rs.84.100. If it is conyerted with a money changer, .
+  the rate is 1 dollers = Rs.83. 4495, determme the
amount lnto rupees if it is converted with:-
(i) ‘Authorised dealer (i) Money Changer "
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(iii)The loss due to conVersmn wrth the money ehanger._ ‘
] Solutron s - | |
~ Amount=/50US DollerS' |
'(z') B _For authorlsed dealer.
N ]Doller—Rs84100 B

~Thus /50 Dollers = Rs 150 x84. 100 = Rs 12615 Ans.
(i)  For Money changer .
B * IDoller =Rs 83.4495 - -
150 Dollers Rs 150x83. 4495 =Rs 12517 42

(i) Loss due to conversmn with the:

Money changer =Rs/ 26] 5-1 251 7. 42

IR | -Rs9758Ans
f -Q._Sé \Rate of tea in Pakistan is Rs. 21. 0 per pound.
Determine ‘the rate per Kllogram, 1f |
(i) Ikg 2.2 Pound _ ' - -
(i) What will be the rate in Saudl Arabra if Saud1 e
1 Rlyal Rs. 22 400
| Solutlon -
| Ikg= 2. 2p0unds - |
‘Rate of tea for I pound = ‘Rs 21 00
(i) Rate of tea for / kg= Rs 21, 00><2.2 |

PR _mnu
@)  Now . | o
T | R_s,22.400‘;1Riya1, :
Red = —1 Riyél
— 22.400
‘Rs4z4z 4242x I,
. “X22400

- =1.893 75 Rryal per kg Ans
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Q.6-

‘An‘exporter of_ carpets eg(por,ts to-.-Engl'and Carpets
. amounting to 40000 Sterling Pound. The spot.

- buying rate exchange at that time was Rs.129.4542

~ to I Sterling. He receives the amount at the time

when rate is Rs. 129 0599 to 1 Sterlmg How much’

he looses" .

Solutlon -

- Amount = 40,000 Stérling P_oundé

At the time of exportation
[ Sterling Pound = Rs.[29.4542

L 4()()() Sterlmg Pound = 40000x 1294542

? Q.7-

= 5178168 Pak Rupees |

At the time of recieving amount
1 Sterling Pound = Rs./29. 0599 .

4000 Sterling Pound = 40000 x 129.0599 = 5162396 -

Loss = 5178468 - 5162396 Rs. 15772
A Pakistani llvmg in Saudi Arab:a earns 4370

'Rlyals a month. His monthly expenses comes to

3450 Riyals. He remits his savmg monthly to
Pakistan. How much he saved in a year if rate of
exchange is Rs.22.400 = 1 Saudi Riyals. After a

~ year Rate of exchange i is Rs.22.3004. Determme the |

loss due to monthly remltance

Solutlon -

Monthly eammg 4 370 Rlyals |

Monthly expenses = 3_450 Riyals

Monthly sang 920 Ri))als | . -
‘Saving in a year 920x 1 2 =11 040 Riyals
Rate.of exchange =~ IR

I Saudi Rlyaf Rs.22. 400 |

11040 Saudl Rlyal =]] 040 x 22. 400
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© = 247296 Pak Rupees

Aﬁer one year |
I Saudi Riyal = Rs.22.3004
11040 Saudl Riyal = Rs. 11040 x 22 3004 _
= 246196.42 Pak Rupees -
Hls Pmﬁt 2473 296 - 2461 96.42
| S © = 1099, 38 Pak Rupees Ans. |
Q.8- " Rizwan purchases a car in Saudi Arabia for 15000

Riyals. Delivery was.to be made after three months =

and payment is also to be: made at the time of
delivery. At the time of contract the. rate was 1
Riyal = Rs.22.400, while at the tlme of dehvery the
~rate was 1 Riyal=Rs.22. 0827. Determme the loss in
rupees due to change in the rate.

Solutlon At the time of Contract . -
"Rateof / nyal Rs.22. 400

15000 Rlya] Rs.22.400x 15000
= 336000 Pak Rupees |
At the tlme of delivery .. .
- IRiyal = Rs.22. 0827 Rupees | |
. 15000 Riyal = Rs.22.0827 x 15000 = 331240.5
- Profit olezwan = 336000 -331240.5
S ‘ = 4759.5Pak Rupees -
Q.9- A friend of Ali hvmg in Saudi Arabia remlts Al
' - 450 Rlyals The bank offers two conversions rate. .
T.T..Buying Rs.22.3449 ='1 Rlyal T/C Buying
Rate: Rs.22.2146 =1 Riyal Which one of the rate )
wﬂbeapphcableandalso calculate the amount in rnpees

Solution:- |
‘T.T Buying Rs 22. 3449 =1 Rlyal

' and T/c Buymg Rate Rs.22:2146 = 1R1ya1
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| As | TT Buylng rate 1S more than |
_ T/c Buying rate. So TT buymg 18 appllcable Ah s
freind will buy TT. :
He wﬂl get Pak rupees = 22 3449x 450

= 10055. 20 Ans

C EXERCISE 4, 2 | |
Q.lé -A ﬁnanclal institution charges Rs.55 simple profit
~ on a sum of money which is borrowed for five
months. Given that the rate of profit is 12% per |
annum, find the sum of money.

Solutlon ‘We are glven that
. Slmple Proﬁt = RsJj5

-

"Tlme =35 months = -I—'}"Year‘e—f

| Rate 12% Per annum
Prmczpal =9

100x Simple Profit T 100 55

" Principal =

Rate x Time b 2,(;1;5, 3
100; 5 1100 Rupees Ans..

© Q.2- Mrs Javed mvests in Savmgs Scheme Rs.800 at 6%
: ~ per annum and Rs.1,200 at 7% per annum. What
. is her total amount of profit on these two
_investments? T -
Solutlon For first investment | | )

| Prmcxpaletme X Rate ’
-] 00 -

-—R48 oL T e

* Stmple Proﬁt =

_38 00xIx6
100
~ For the 2nd mvéstemnt. ’
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"Slmple Proﬁt = IZOOX7XI = R984
| - 100

-Total Proﬁt 48+84=Rs]32 Ans-

Q.3- How Iong would Rs.1.250 have to be deposned at
| 6% per year snmple profit to gain Rs. 750 snmple proﬁt"
| -'Solutlon -

Prm_mpaleime xRate - /
100 S
SPxI00 g

| Prmmpalx Rate '

Slmple Profit =

- Time =
!(

-lé@x-}élﬁ
—H—.’ﬂixé

>

Q.4- Ali lent. to Abld Rs.4 800 for 7 months. At the end

- of this period Abid had to pay Ali profit of Rs. 119.
What was. the rate of s:mple proﬁt per annum?

| Solutxon - |

=] Oyears Ans.

Rate _ Simple Profitx100 = Mg_
Principal x Time 4800 x -

rd

;oo |
SHA 17 - q.25%Per year
- 460-xF+ 4 o | | ,
Q.5- In a certain year, Javed puts Rs.600 in a private
L bank at the end of March and Rs. 400 in the same
- bank at the end of June The ,bank offers 3% per
annum simple profit rate. Find the total amount
Javed reeelves from the bank at the end of‘
December in that year? | ‘
Solutlon Jayed invested Rs.600 for -

9 months OF 2 years.
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WO e R Kk i

Proﬁt for Rs 6()0 ‘ '_
" 690»x3>< 9
- | 12

106

-—6x2=£—135 =.Rs’135- A
42

He invested Rs.400 for 6 months
Or—6*-=-]-Year L N
2 27 : -
o
Lo o 499x3x~ .
. Proﬁt fo'r'Rs 400— — 2 = Rs6.
100

. Total Prof't =Rs.13. 5+Rs 6= Rs ]95

Thus . , |

S Javed w1ll recieve the total amount . .
- =Rs.600+Rs.400+Rs.19.5 . .

B "-Rlel95Ans . o
Q.Ge ' At what annual rate of profit would a sum cf

. Rs.680 will i increase to Rs 850 in 3 years and 4
months? - - |

- Solution:-. o
- Prmmpal Rs680

| Time =3 yéars and 4 inonihs'% 3 %yeats = .If.years, | -

¢ ‘.-Rate:.-?_ . B -‘ ; '/.’ L. - '. |
. Total Profit =Rs. 850 Rs. 68() Rs 170
- Thus e
e Profitx 100 #ﬁxmo

Rate =- - -
Prmmpal x Time . 68 ﬂ

3x]00 30
" 4><10 |

’\ _
—750%PAAns
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'Q.7-' Copy and complete the followmg table with the
| help of formula given in this umt" |

- Solution:- , | | 1
Principle | Profit rate Tir'n_e*‘ Simp'lel Profit 'Ani'ount_' |
@] re12000 | 8% 7years- | Rs6720 | Rel8720
b)|  Rs.500 1% | 4years | Rsrzzn | Rse720
eyl Rs.300° | ..9% ‘. 7 4year3 ~ Rs. ]08 2 R.s.-l()S
@| Rs.3000 | 4% | 10years | - Rs.i200 - :__Rs.4200
@| Rs3600 | 5% | 2years | Rs360 | Rs3,960
O Rs.t800 | 7% Liskomn|  Re189 | Rs 1989
@] rRsa500 | 6% | 2years | Rssi0 | Resosm |
(h) Rs.izoo' ,__5%_' | ! yém . Rs-'90 Rs.1,290

Q8- A bank mereased the rate of profit from 3. 5% to
: 4% per annum. Find how much more profit Saeed

would receive if he deposnted Rs.6400 in the bank =
"for 6 months at the new. proﬁt rate. . |

- Solutlon At the old profit rate
6400xix35 T
‘ Pro'ﬁt — Lo
| 10
=32k Rsi12 -
2 .

At new Proﬁt rate |

640Qx;x4 0 |

D [/
B =32x4=Rs. 128 |

The amount of more Pr01ft Rs I 28 Rs 112 Rs. 16 Ans

. . Proﬁ
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'Q.'t)- f

Mrs Jamshed mvested Rs. 4000 in XYZ Bank

'lelted which pald simple profit at a rate 7 % . -

' per annum to its mvestors After 2 years, the rate

‘was increased to 8% per annum Fmd the amount R

SRR ,-she had at the end of 7 v ears
Solutlon -

o Proﬁt of ﬁrst twb years =

. _4ax7xz' Rs.580

4000x7 4><2
100

e

' 40—99-)(8)(5

| Proﬁt of last 5 years = =Rs. 1 600
106

YTotal Pr01ft Rs. 1600 +Rs.580=Rs. 2180 Ans

- Total Amount she had = 4000+2] 80 = Rs 61 80 Ans.

-~ Quao-
- -ABC Limited. If the profit rate of the bank

Mr.Dawood deposits a eertam sum of money m‘_

decreases from 3,?4_%1’“ annum to 3 -—2-% per

annum, Mr., Datvood’s prdfit will decﬂreaseby‘ -

 Rs.50 in a years Find the sum of money he

- | Solutxon- :

depos1ts

;o

- leferenceoftworates 3-3—-_—3—.:_.0/

2 4
Therefore Proﬁt is decreased by Rs 50 at

| > o
the rate of 4/0 durlng one year Thus .

- Profit X 100
Tlme X Rate

Pr1nc1pal |
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o 50"’]”0__ 5()00><4 20,000
- ‘ 1x7 )
iy )

Q-
W

(i

Fmd the compound proﬁt on. |

Rs.450 for 2 years at / 0% per -annum compounded R |
Cyearly; | - ) |
- Rs.700 for 3 years at 11 % per annum compounded o

- yearly;

| .(ﬁl)--\

o (Ilv) |

. Solution:-

(i)

Rs.5000 for 2 years at 1 1  per annum campounded

yearly; | o , | |
'Rs 1200 for 3 years at 4/) per annum compounded o
o year]y | R |
) Rs 10000 for 3 years at 7 2 per ‘annum compounded |
.'yearly ' | |

R LR
L O

100

Lo T Rate Tlme-r
Fmalﬁmount =Px I+

--'Fmal Amount—450x{1+_l_g_} o R
| 100

o __,-—450x(1 Iy o
- =450x(1.2]) _,5.44.5 | o
- Cempound Profit = Final Amount - Principal

(i) -

= 544-5-450= Rs‘.94.50 Ans.

-

‘ : Co Time =
~ Final Amount = Prlncpal X 1+-R—i-] SRR

=70()>< ]+—Z—{—] S
- 100y
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- ,_700x(1 11)
=700x(). 3676) 957 34

Compound Profit = Fmal Amount — Principal

 =Rs.957.34-Rs.700
 =Rs.257.34 Ans.

. . Time
i) Fmal Amount = Prmealx[1+BEEjl .
() | e}
= 5000 {1 5-1—-7—5-}

: 100

- =5000x(1.1175
= 5000 (1.2488) = 6244.03

R A

. Compound Pl‘Qlft ‘Rs.6244. 03 “Rs. 5000 |

—Rs]24403Am |

o ‘ Rate Time.. o
(iv) Fmal Amount Prmcpalx ]+—-—— R

_ 100 ]
C . .;4;_3,.' :
| =1200x|:]+-———-]
- 100, |
= 1200x(1.04)’ '=1200'x{1.1249)' .
~ =Rs.i34988 .
Cornpound Proﬁt-1349 88 - 1200 - 149. 88

. : | | A ' ' R te Tnme 3
'(v)' Fma] Amount = Prmcpalx jyed

=]0000x|:1+m} o
IR 100 |- .
o =10000x(1. 075)’ _10000(1 2423)
. =Rs.J242297 o
Compound Profit = Final Amount Pr1nc1pal

= Rs.12422.97 - 10000
=Rs.2422.97 Ans.

100
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- Q.12- Waseem invests Rs.5000 at 52% per annum profit

compounded annually Fmd the amount at the end

of the thll‘d year _
Solutlon -

At the end of the third year
Rate

o Tlmc
"Total Amount Prlncpalx[nm o
| 100 )

- Q..i3-

—5000x 1 -'?—-2—5:|
| 100 |
’=5000x(1.0525)_, s
=5000x(1.1659) .~
= Rs 5829, 57 An.s
L |
Javed invests Rs. 800 at 125 % per annum

,compound profit compounded half-yearly What is

~ the amount at the end of the ﬁrst year"

Solutlon- | | , U | |
- -Pnncipal R5800 ' Rate —122 = 12.50% PA "

: Tlme = One year

=2 terms of half years

Because. Proﬁt is Compeunded half yearly

So Rate 625 half yearly

, - . ) Tl.me -
Fmal Amount = Prmcpal X [1 -f-}—{-a—E SRR
. o . E ’ —~% B 100 - . | '

v ,
o .

100 :

Sl 800 0625)°
o _—Rs )03 13 Am



l-'riendlerotcs For GenerulMuthrmtus Y - _ ‘ . R 91

T gy~ -

= —m-_----‘-u-_-_-_-_-_.u;ﬁ_-.-l-.

‘-'Q 14- Mr saleem invests Rs.9000 at 2% per annum
| compound profll compounded daily. What is his
amount at the end of the third day

‘ bolutlon -
| Prmcnpal Ra 9000

Rate = 2% Per annum.
Time = 3 Days. _ |
- As the Profit is compounded dally

o Y
a Rat = ‘VDall
‘So  Rae=—~ RAN
| O i ; s
.. Final Afnount=9000x'1+§.§i
T 100
I

=9000x; I+- :
L [ 36500]
~ =9000x(1.0000548)

= Rs.9001. 48Am-* ‘

- EXERCISE 4.3
- Q.lé_' A man borrowed Rs.1460 from’ ABC Bank on the

1
‘3rd of March at 12*2- % What should he pay on the -

. 1stof July to pay off the debt

Solutlon- L
~Principal = Rs. 1460

Y Rate=12 ; %-:1250% PA.
N Tlme = 3rd of March to Ist of July
SRR
—}2]da s=_years.
- YS 365 Ye L

: “.' . wh g
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Prmupal X Tlme X Rate

100
» _~]46#x17ix1250

3635 % 109—
_ Thus Total amoum Principal + Mark up
 =Rs./460+Rs. 60.5=Rs.1520.5 Ans.

Q2- A shopkeeper borrowed Rs 3540. from ABC Bank'

3 1
at 102 Yo ‘and lent the whole amoun't'at “‘i % on

T

NI W T i~ R~ I

N kM‘ark‘up‘-u

=Rs:60.5 -

| the same day, what would he gam from this after 3
S years and 4 months.
Solution:- Principal = Rs 3540

%

Rate —-103%PA =10. 75PA
Trme = 3 year and 4 months.

"-—3iYe“ars;~£'—' ears.
BRI T

 Bank's Marku '-_ PrmclpalxRate'.x:}?{ne
100 '
354010 75x~1§0—~
T
e \& \6( _
iy < 10.75x1 CRel28S0
10&x4 | | |
"Proﬁtgamedbyhlm; 3540)(” SOXI_Q -Rs 1357 |
100x 3 '

. He will given = Rs. 1357 ~R5.1268.50 = Rs.88.50 Ans. |
Q3 XYZ Bank gained Rs.8034 on lts loan at 6%

- compound markupm 2years What amountdld it lend"‘ e

~ Solution:- | B
Letus suppose the Prmmpal amount is Rs ]00 Then o
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- . e e 3 = - . L e

Final Amouﬂt#l()ﬁ{/«r—i-] R
, ol
= 100x(1.06]
S =100x(1.1236)
- =Rs./2.36 |
. Compound Profit = Final'Amounht%Principal =
T =Rs./12.36 - Rs. 100
e | ' =Rs.J2.36
S0 ‘For the Profit of Rs.12.36, loan Rs.100
- 100 -
12.36

. For ine Profit of Rs.8034, lbanrz Rs. 104
e 12.36

For t_‘hek Profit of Rs.J, _loan =Rs.

x 8034 | |
o | "= Rs.65000 Ans. ‘
Q.4- A Companv borrow ed Rs.6,600 from ABC Bank -

- 'Ltd at 8% snmple markup per annum. How much

- did the company owe to the bank at the end of 11

“months?’ | ! | |
Solutlon -

Principal Amonunt =Rs. 6 6()()

Rate = Simple Markup 8% P.A.

o !'-T_ime =11 months = —Il—;— years.

o Slmple Mark up _ PrmcnpalxRatu leme
| S 100,
= x-8-><]1_ -_Rs.484 :
-1-99-><-}2— -

| Total amount = Prmmpal + Mark up
| - =Rs.6600+Rs.484
=Rs.7084 Ans.
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Q.5- XYZ Bank charges 2. 25% per month simple

- — '-—-"-"—-—-"’-—-—-‘-'—-—--—- i T T ————

- markup on personal loans. If Ali borrows Rs.6,400

~~ for a period of 2 vears 1 month, find the total
- markup he has to pay to XYZ Bank.

‘Soluuon - |
| Prmc1pdl amount = Rs.6, 400 . - :

‘Rate of Simple Markup.= 2.25% Per Month
- Time = 2 years / month = 25Months, |
Pr1nc1pal x Rate x Tlme
100
_ 64oax2.2’5><25—‘
‘ = 64%2.25% 25 = Rs.3600 dns.
Q.6- ' Fmd out the compound markup on Rs. 250, 000 for
. one year @ 14 % compounded annually

S:mple Mark up =

Solutlon- ' o
Pr1nc1pal Rs 25() ()()0 T:me -] year S

Compouned Markup rate= /4% P. A.

. - Timw
Total Amount = Pnnmpalxli] +%—(L0:| .

| —250 0()0>< 1+-—{i
100

= 250,000(1.14) = Rs.285,000
Mark up = Total amount'— Principal_j |
 =Rs.285,000-250,000
| : = Rs.35000 Ans. - :
- Q.7- F md compound proﬁt on Rs 600 for 4 years at 6
o percent per annum. ~

Pr1n01pa1 Rs.600, Time =4 years. .
C ompouned Profit rate = 6% P.A.
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- . : 1
e g Tl =t .

o 1ine
Total Amount. = Prmcxpal X [1 + Eja_e:l :

100

L JEn

: _6()0x[1+-————}

, 100
o =600(1.06) =600(1 262477)
: o “Rs75749 o
SR Compound Profit=Rs.757.49~ 600=Rs.157. 49 Ans
Q.‘8- Fmd the compound proﬁt of Rs 50000 at 4% for
2 years
Solution:- - -

~Principal = Rs 5() ()()0

- Rate =4% P A

Tlme.=13y_ears- SRR

o ' o r Time
Total Amount Pnnmpalx 1+:R--t-

: | 100 |

R 4 12

. =30,000x) I'+——1

- .

. =50060>< 14— || 1+—%~
: L 100]
=50, 000(1 04)(1 02) =Rs.53040"

Compound Profit= Rs. 53()4() Rs.5 ()()00

~ =Rs.3040 Ans.. -
- Q.9- Find the compound profit on Rs. 54000 for one year
. at 12% per annum -
Solutlon -

' ' L Time
Tbtal Amount Prmmpal x| 1+ B——t——- L
- L. 100

FI
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- Q;l-_ ',

=54, 000{14-1:2-} |
| 100

T =54,000x(1.12) =Rs, 60480
Compound Proﬁt Rs. 6()48() Rs. 5400()
~ =Rs. 648() Ans.

-y
EXERCISE 4 4
If the amount of premium is calculated as
Yearly premmm (@ 4.5% of the policy i mcome
+ policy fee @ 0.25 "/ of the pOlle amount or at the "

-most Rs.200.

Half yearly premtum @ 52% of yearly premlum L

* Quarterly premlum @ 27% of yearly premlum

B “Monthly premium @ 9% of yearly premium. .

Then complete the table below for calculatlon of the .

premiums. |
Also find the total amount he pays to the company

| Amount of
policy

Y earl ly

| premium

Half yearly

premium

Q_uarterly

premium

Monthly

premium

(i) 50,000 |
@ 100,000 |

i 150000 -

- (v) 200,000

" Solution:-

R

Pollcy Fee @0.25% = 50000x 00

Amount of Pollcy Rs 50, 000

Yearly premlum @4 5 % Rs %x 50000 =Rs. 2250

025_ -Rs‘125”-'

Totak amount of yearly Prermum Rs. 2250+Rs 125 |
=Rs. 23 75 Ans
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)

" Pohcy Fec @ 0. 25 % =

Half yearfy Premium = 52% of yearly Premlum

52 |
o222 2375 =Rs.1235
7007 5-1235 Ans.

SR

- Quaterly Premium = RS%XB 75 = Rs.64]_ .‘50 Ans".

Monthly Prerhiﬁfn = %-x 2375 =Rs.213.75 Ans.

Amount of Pohcy Rs 100,000
Yearly premium @4.5% = Rs. fb%x'woooo
=Rs. 4500 Ans.

025, X 100000 250 > 200
100

Thus Pollcy fee = 200

| Total amount of yearly Premlum 45 00+ 200 ‘

= Rs 4700 00 Ans

Half yearly Premlum«- %x 4700 = Rs 2444. 00 Ans
27,

: Quaterly Premlum Rs-i—éb—x 4700 Rs 1 269 00 Ans
o - Monthly Premium —f’%{—)-x 4 700 Rs 423 00 Ans.
i)

- 4.5
- yearly Premlum = 700> X 1 50000 =6 750 00

. _Amount of Pohcy =Rs.150, 000

Policy fee Rs.200.00 |
' Total amount of yearly Prcmlum 6 75 0+ 200

= Rs, 6950 00 Ans

- Half yearly Premlum— —]%20— X 6950 = Rs 3614 Ans
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L. .Q..Z-'

yearly Premlum --;%'Sb-x 200000 9000 200 |
‘ Total yeaﬂy Premium = 9000 +200 Rs 9200 00 Ans o
-' | Half yearly Premlum a%x 9200 = Rs 4784 00 Ans.
Quaterly Prcmlux}y Rs }-ZBZO-X 9200 = Rs 2484 00 Ans
| Monthly Premium --}—gb-x 9200 Rs 828, 00 Ans
Calculate the amount to be recelved by the helrs of
. an-insured if he died 2 years after buymg thei
- policy while. . o
The amount of policy = Rs 50, 000
_Premium is fixed @ 4.2% yearly
Policy fee @ 0.3% -
- _Fannly income contract @ 0.6%
B Matuntypenod 22 years
Bonus @ 4.5% and Rs.6000 yearly income is-
promised by the company
Solutlon - - o
Pohcy Amount Rs 50 000 00 - S
Bonus for two years @4 5% = ;0000)( 4.5% 2 - , :
\ R
C=4500 -

Qua,t_e'rly Premium = Rs'—l‘%x@ﬂ) '——-Rs.18‘76.55 Ans.

| .Monthly Premium _'-I-Z-axcs%o Rs 625.30 Ans.
Amount of Pohcy Rs. 200000 00

Thc famﬂy will get 6,000 yea.rly as lncome L
. for ncxt 20 years .
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Total famlly income, = 6000x20 Rs. 120 000

, Total Amount 50, 000.00 +4500+120, 000

R = Rs]74500Ans S

-Q.3- Mr. Ahmed Ali lnsured ‘his house worth

o Rs. 75,00,000 @ 2% for 4 years calculae the amount

‘paid in 4 years, while the rate of depreclatmn is

10% yearly
~ Solution:- | v
Amount of Pohcy = Rs 75, 00 000 |
Ist Premlum @2% = ;Ox 75,00,000 = 1,50,000
| 10
Depreczatlon @I 0% o0 X 75 00 000 = 7 50, 000

Value of house after one year.
St =75,00,000- 750000

| o l—Rs6750000 .
an Premlum @2%-= 1—;-53 67,50,000 <Rs.1,35,000
Aftertwoyears- Sl | | | |
- Deprematlon @1 0% = 11(;?9 x67, 50 000 =Rs. 6, 75, 000

3'Depre01atxon value =Rs(67, 50, 000 6 750,00)

~-Rs6075 000 o

| '|3rd Prermum@Z% joxo’O 75, 000 R
S _-Rs121500 o
After 3year : L

| 4th Premlum 0

Total amount paid in 4 years |
= Rs(150,000+ 135 000+ 121, 500+0)

~=Rs. 406500 Ans.
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Q4- Mr. Nadeem insured his shop @3% for 3 years, "
the depreciation rate is 5% yearly. If he paid an

 amount of Rs.21000 as the 1st premium, what is |

- the worth of his shop. If he got a claim of
- Rs.200,000 after two years, how much benefits did
he get? . -
_Solutmn- o | S
- 3% of worth of shop st Premium

h _" —iof worth of shop=Rs.2100 :
00 |

: Worth of Sh(_)p:‘!—g-.O-x'Z.IOUO =Rs.700,000 .

- After one year |
- Depreciatibn @5% = (5) 5 700000 =Rs.35, 000

- Depre01atedWalue Rs.(700, 000 35 000)

Lo —Rs 665000 |
| an Premlum @3% = 7gaxms.s 000 =Rs. 19950

Total amount pald in 2 years = RS(ZI 000)+(1 995 0)
. | o —-Rs 40950 -

| Amount of clalm Rs. 200 000 - ,
- Benefits = Rs(200 000 - 40950) Rs 159050 Ans
. Q5 Mr. Adil bought a running business Wo th
| ~ Rs.10,00,000 and got it insured @2.5% as yearly

premiam for 4 years. After 3 years he got'a claim

of Rs.500,000 for actual damages. Ho much loss
had he recovered through msuranc |
Solution:- :

-~ Amount of Pohcy Rs.10,00, 00/0'

25 -
Ist Prcmxum 2.5% = X 1 0, 00 000
P @23% B

' /
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| )Dep/reeiatiqn-@h’)% = ]1000 x 10,00,000
e " =Rs.L00000
| Deprec1ated value Rs(10, 00, 000 1, 00, 000)

S —’Rs900000

202 x9,00,000 =Rs.22,500

3

-

) ]

 2nd Premlum @2 3 %

~ After 2 years. o
’000x9.00000:=Rs9000_0 _'

3 Depreelatlon @10%

Deprec1ated value Rs.(9,00, 000 -90, 000)
= Rs 810,000 -
| 3rd Prermum@Z 5% —%xé’ 10,000 Rs 20 250
After 3 years. ﬁ
-~ Total amount pald as Prermums-—
= Rsy2)5, 000+22500+20250) =Rs. 67750
Clamm Remeved Rs.5, 00 000 -
h Mr Adll recovered Rs.{5~96170 67 750)
. | =", =Rs4 32,250 Ans. . s
Q.6- Mr Javeed bought an insurance policy against his
-~ car worth Rs.8,50,000, @ 4.25% for 3 years. What
 total amount will he pay as premium, if he had not
claimed and- damages durmg the perwd" Where ‘
depreclatlon is 10% | ‘

Solutlon -
| | Amoum of Policy = Rs 8, 50 000 - |
st Premium @4 5% = 40?) x8,50,000 =Rs.36,125

“After one year,
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-Depreciation @/ 0% = —I-Ib%x 8,350,000 Rs 85 000 .

Deprematéd value Rs (8,50, 000 -85, 000)
- =Rs.7, 65 000

425

- 2nd Prermum @A. 25% = 700 x7 63, 000

.= Rs 32512 50

| 3rd Premlum 0o . s
_ Totalpayment R5(36 125+32 51250)

S .-R56863750 - | .
- .Q.7- Mr. Rehman bought a vehicle worth Rs. 7 50 000.

He got it insured @3.5% for 5 years. How much he -

- paid in total for covering the risks, if he had gota
~ claim- of damages worth Rs. 10/0,000 during the
_ : ’perlod" Where depreclatlon is W%. -

~Solution:- B £
Valuc of vehlcle Rs.7, 50 000 o

st Prermum @3 5% = 7 50, OOOx% =Rs. 26250
L Aﬁer one year, - | | "
10

Deprecnatzon @I O% 100 x7, 50 000 = Rs 75, ‘000

New value Rs( 7,50, 000 75 000) Rs 6, 75 000

2nd. Premmm @3. 5%— 33
100

<675,000 ~Rs 23625
. ; Deprecmnon@.l(]%_:’:Ilgox'6,75,000 =_Rs.6,75,00 g |
© New value=Rs(6,75,000~67,500) =Rs.607500

| 35
3dPre1mum 5"/-
. @ =0

After 2 years.

x60,75,00 =Rs.21262.50
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After 3 years. " | |
R 1/ I
De reciation ]0"/ =

New value Rs (6 07, 500 60750) = Rs 546750

4th Prermum @3 5% = —-[%%x 546750 =Rs. 1913625

x60 75 00 Rs 60750

- Sth Premlum 0 o - |
Total payment = Rs(26 250+ 23 625 + 21 262 50+ 1 91 36 25)

=Rs.90273.75 .

Claim Recieved =Rs.,00,000 - - - ,.
Benefit=Rs/1,00,000-90273.75) =Rs, 9726.25 Ans.

Q.8- Ms. Maria bought an insurance pollcy @3.25% for |

_ her car for 3 years. Her 1st premium is Rs. 26000.

" Tell the price of her car. Also calculate the.
~amounts of her 2nd and 3rd premlum. PSR
Solution— - R
Ist Premmm Rs 26000 .
3. 25% of Pnce of car=Rs. 26000

Prlce of car 26000x 100
- 3.25

26000x]00><100 —RS.8,0.0;000A118.,' '
: 35 \
Afteroneyeér' S AR

10'5;-8 00-000 o
00"

e "-Deprecmtlon @10%
T o '---Rssoooo
DA _New value RS(S 00,000 - 80, 000) = Rs 7.20, 000

o -an Premlum @3 25% = '3025

SR  =Rs.23400Ans.
o 3rdPrem1um OAns

X7, 20 000
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o - EXERCISE4.5
‘Q.1-  For each of the following. | |
. (i~ find the additional amount you have to pay by |
- financing and

(i)  express the addlttonal amount obtamed inas a .

percentage of the cash price:

Fmancmg T erm . .~
Cash(Rs.), Down(Rs.) Monthly, - Number of
S o instalment(Rs.) | instanlments |.

|@|Rs.360 |Rs50  [Rs40 | 10
(b)|Rs.900 - |Rs.150 - |Rs.75 . | 12
(c) |Rs.25000 |Rs. 10000 |Rs.500 36
Solution:- | IR ) |

| (a)_ Cash Price =Rs. 360 |
| | - Down Payment = Rs.50 |
Payment by 1nstalments =Rs.40x1 0 ‘
' ‘ | = Rs.400 o
' Total Payment Rs.400 + Rs 50= - Rs. 450 _
| -Addtttonal Amount = Payment ~Cash Price. N
| = (450 360) = Rs 90 Ans. -

| Percentage of Cash Price = 3.%% X 100 25 % Ans

'(b') Casli Price = Rs. 900 ”
- - Down Payment *Rs 150 .
 Payment by instalments = Rs.75x ] 2 Rs 900
- Total Payment = Rs.900 + Rs. 150 = Rs. 1050 .
Addmonal Payment =Rs (1 050 - 900) Rs.1 50 Ans.

Percentage of Cash Pnce —;%% x100 = 1 6— %_ Ans.
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©

. Cash Price =Rs.25.000 =~ .,

Down Payment =Rs.10,000

| Payment in mstalments =Rs(500x36)

| —Rs 18,000

 Total Payment = Rs.(10000 + 18,000) = Rs. 28 000 .
- Addmonal Payment = Total Payment Cash Price.

: 'Q-_Z'-_ '

(ii)

 =Rs(28000~25,000) = Rs.3000 Aﬁs |

o 3000
Pe tage of C hP = 100 TZ‘V
rcen ge of Cash Price = 25000 X o Ans

‘Pervakz buys a wmdow alr-condltloner at Rs. 900 S
He pays 20% deposnt and the outstandmg balance, |

plus markup in 48 months. Markup on the‘
balance is charged at l(l% Find

‘the cost of hxs monthly 1nstalment -
_the amount he savés by paymg cash.

_ Solutlon -

“Cash Pnce - Rs. 900 )

Cash Payment = 20% of Rs.900

| _39—x900 Rs. 180
100~

| Remammg amount = Rs. 720 Tlme 4 years

- 720x10x 4

: Mark up =~ -288

100

s ~ Total amont to be pald Rs (720+288) Rs.I_OO8 |

Payment in each msialment

- 1008
=—= RS 21
18 Ans

Total Payment = Rs: (180+ 1008)=Rs. 1188

By Paying Cash Price, he can save.

=Rs(1188-900)
= Rsﬁ;2881 Ans.
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Q.3-- On each of the followmg S
(i) find the financial price of the goods and |
(ii) "express the amount saved by paymg cash as a
- percentage of the cash price o
Item _Cash Rs. { Deposit Number of-_ Monthly - | :
‘ | Instalments Instalments Rs

(@){ Computer| Rs.200 | 10% 4| Rs9

(b) Printer Rs.4:‘?0_ 15% | - 8 Rs.25
(©)| Scanner fRs.zéoo 5% 4 30 | Rs.52
Solution:- o | | ’
(a) Cash Price of Computer =Rs. 200 |
| | Deposne 10% 1000 xZOO—Rs 20? '

- Payment by mstalrnents =24x9= Rs.21 6
Total Payment = Rs(20 + 216) = Rs.236 e
Payment More thari Cash Pnce -Rs (236 200) Rs.36 B

- Percentage=-2%%x100 :18% Ans

o (b) 'Cash Pnee of Pnnter = Rs 450

 Cash depaslte @15%= "1!495-0 % 450 Rs. 67 50

. Payment in msta]ments = Rs(25 x1 8) = Rs 450
- Total Payment Rs(450+67.50)= Rs.517. 50 o
Amount pald more than cash pnce- (517.50— 450)
- =Rs. 67 50 '
'67'1.50

%age = ><-100-=15¢ <
bag 450 °© Ans.

[ '('c) \ Cash Pnce of Scanner Rs./ 600

S 25
~ Cash deposite @25% =
s ep".‘e@j T

x 1600 = Rs 400



- Friendly Notes For General Mathcmtics 9 | : _ | 107 :

~ Payment in instalments = Rs(52x 30) = Rs.1560
. Total Payment= Rs.(400+1560) = Rs.1960
- Extra Payment Rs(] 960 1 600) =Rs:. 360

><100 22 5% Ans.

360
"/ e=
T 600

Q.4- For each of the followmg find

(i) the monthly instalment and ‘

(ii) .the difference in the hire purchase pnce ahd thc
" cash Pnce as a percentage of the cash Brlce

| Cash Rs. Hzre-purchase terms
| (é) RS 800 Rs 100 deposzt balance 8/6 ]year -
(b)| Rs.8000 |

] ]
Rs. 20-0 depos:t; bqlance 10% 23 year

@] Rs.1200

Rs. 200 deposit, balance 15% 1 3 year.

| "Solutlon—‘ S
" (@ Cash Price = Rs 800
‘CashPayment Rs.100 ;o
- Balance =Rs(800-100) =Rs. 700 S
o '-Markupratc =8%P.A | -
| - Time = Iyear |

. Markupamount—M =56
| 100

R Total amount to be pmd in 12 monthly |
N . | mstalments -Rs.700 +Rs. 56 =Rs. 756

B Payment of each mstalments Rs. -—]-'E;- =Rs. 63 Ansl

- Difference of hire purchase prlce
and cash price = Rs.56 Ans

36
Spage =0 x100=7% Ans -
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‘(b) ~ Cash Price =Rs.8000 |
. Cash Payment =Rs:.200 . ..
o Balance = Rs {8000 - 200) Rs 7800
. Markuprate—JO/o -
7800 x10x2.5

Amount mark up = = Rs 195 0
P00

Total amount 10 be pa:d Rs( 7800 +Rs. I 95 0) = =Rs.9750
‘Number of mstalments’ 2. 5 x12v= = Rs. 30 '

975¢ .
‘ —R 325
e S. Ans

Payment in eéch instalment .

| Now mark up =Rs. 11950

%age of cash price= 9;3 X 100 = 24 75% Ans.

()  CashPrice =Rs.J200 - =
Cash Payment Rs. 200 -

Balance = Rs. ( 1200- 200) = Rs ]000
Mark up rate 1 5%

)| 4' :
T1me=1—— ears = — years
Al 3Y 3Y _

o | 1000x]5x T
B Amount of mark up =— 3 =Rs 200 o
. - 100
Total amount to be pald in mstalments
S "*;_-RS(IOOO-#RSZOO) =Rs. 1200-

Number of instalments =1 —13— x12 =16 l_nstalment_s

.Eachmstalment-—z—lz—g—ng 75 | »? -
o Now mark up =Rs. 200 |
| 200 2.
. . %age of cash price = —— 100 -16 %
RO P S 0™ T T3 Ans

.-*.
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Q.5- The cash price of a computer package deal was ~
* Rs.3200. Markup paid @ 15% down payment and
- the outstanding balance plus markup over 24

‘months. Markup on the balance was charged at 9.5%.

(i) Find the cost of the package deal 1f it 'is- bought on
~ hire-purchase. .

(i) Find the difference between the hire- purchase price

\ and the cash price.

(iii)  Express the difference obtamed in (u) as a percentage ~

- - of'the cash price. "

Solution:- Cash Price=Rs.3200
Down Payment 15% of 3200

- _{5_ x 3200 = Rs, 480
700

| Balance Rs.(3200~480) = Rs. 2720
Time = 24 months =2 years

Rate of mark up 9. 5 % |
o 9.5 95
_Amountofmarkup—-—-——x2720x2 —-—-x272><__2_
100 - 100 |

| -_’_9_ 272x2 Jﬁxzséxz
20 10

. -25840><2 '—R551680
Total amount to be pald Rs(2720+516. 80)

-=Rs. 3236.80
, Number of mstalments = 24 '

3236 80

- Amount of each mstalment =Rs.134.87

o leference of two pnces Mark up Rs 516.80 Ans
- Cost of package 1f bought on hire purchase

, = Cash price + Mark up _
‘— - Rs {3200+516.80) = =Rs. 3716 80 Ans.
'516.80

"”/ageofMark up =" 3200 x100 = 16. 15/ Ans.
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Review Exercise 4
Enclrcle the correct answer

- An 1nstrument for payment order 1ssued by a bank on

the request of its customers is called

-~ pay order ()" cheque -
‘bankdraft . (@  billof exchange

The person or entlty whose msurance is bemg done is
called the: ' L

insurer (b))  insured

- drawer (d)' lessee N
The company undertakmg the act of i msurance s called
- insurer . ' (b) - insured -«
insurance ~ {d) - insurance pohcy
‘The peI'IOdlC instalment to be pald by the msured 18
called: | | :
 “bonus N0 disconnt
" premium " (d  markup
‘The retum earned by the bank on loan is named as:’
. mark up. () premium
Cbonus @ proﬁt LT |
- The amount which is pald by the bank on the depos.1ts
- iscalled: . - -
~ profit (b) bonus
~_premium . (d ~ markup
' The percentage of proﬁt/markup charged is called
rate . .(b)  time \
interest @ principal

A machme 1nstalled by the bank to dlspense cash to )
“customer is called an |

co_mputer_ | (b))  scanner

ATM : - (d) - cadd reader |



', o (c)
(i) a- (ii) b | (iii) a : (l'v_)_'c (v) a
- (w) a (vii) a | (viiz) c | fix) a"l B
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: (lx)

(@)

A bill -of exchange drawn on a spe01ﬁed banker and
not expressed to be payable otherw1se then on demand f

~iscalled: | o ] =
cheque - - ) pay ord'er
bill of exchange (@ bankdraft

| _' Q.2-
| (I)_

i)

(i)
i ;, '(ivj

)

W)
iy

- iii)

Fill in the blanks. R r
A b1ll of exchange drawn on a spemﬁed banker and‘

- ;_-not expressed to be payable 0therw1se then on demand . |

iscalleda -

An instrument llke a cheque 1ssued by bank on the
request of i its customers is called.

A machme mstalled by the bank to- dlspense cash to
‘customers is calledan

The amount whlch is pald by the bank OR ‘the deposns
maintained by the client with the bank is called ' |
The percentage of profit charged iscalled =~

The period of the loan or deposit is called the
The return earned by the bank on loan is namied as___

The periodic mstallment to be paid by the msured is

- called

(i)

x)

The company undertakmg the act of insurance 1s '_ |

| called the

~The person or entity whose insurance is bemg done i 1s_
'called the

(z) Cheques (i) Pay order (iiz)'AT M (IV) Prof t -

) Rate ~  |i}Time . (vii)' Mark up (vm)Premzum

(ix) Insurer g (x) Insured
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~ Q.3- Rabeel insured his house worth Rs.75,00,000 @
| 2% of S years. Calculate the ampunt paid in 5
' years, whlle the rate of depreclatlon is 10% yearly »
Solutlon - |
| Amount of Pollcy— Rs 75,00,000 .

Ist Premlum @2% = 2
| 100

«75,00,000 —RSISOOOO (,)'

- Afterone year R

10

 Depreciation @10% = =2 75,00,000 =7,50,000

- New value=Rs(75,00, 0007, 50,000) = Rs.67,50,000 |
. jZnaV Premium @2/ = -]—;5x67 50,000 . = Rs. 1 35, 000 i)

After 2 years g
’000 <67,50, 000 =Rs.6, 75000

New Price of house Rs.(67.50, 000 6,75, 000)

Deprematmn @1 0%

-=Rs,60,75, 000
3rd Premium @2% - Téﬁ" 675,000 =Rs.121500 _ (i)
Aﬁer3years IS |
10 '

De rec1at10n 10% =
| i ®10%=5x
: Depremated Value Rs.(60,75, 000 6, 07 h] 00)

| , =Re S4.67 500
4th Premlum @2% R X 54 67, 500 Rs 109350 (tv)
00
| 5t_h Premium =0 S
Total amount paid= .

= Rs(1,50,000+1,35,000+1,21,500+ 109350)
=Rs.515850 Ans. -
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Q 4- Naeem msured hlS factory @ 3% for 3 years With
depreciation rate 5% yearly. If first premium is -
~ -Rs. 21,000, find the worth of the factory. If he got a
“claim of Rs.200, 060 after two years, how much
5 beneﬁts did he’ get" |
Solutlon - g
1st Premlum @3% = Rs 21, 000
3% of worth of factory Rs 21,000

_‘ j——of worth of factory Rs 21 000, -
I 00 |

Worth of factory ) 000x!—g£—

o - ~Rs. 7,00,000
~ After one year
o Dcpre'ciation-@j% = ']—g—ax 7:00, 000 -
_,  =Rs35000
. Deprec1ated Value Rs.( 7,00, 000 35 000}
| ~ =Rs.6,85000
2nd Premium @3% = % x6,65000
= Rs.199_50 |
3rd Premlum 0
- Total amount paid as Premlums =
 =Rs(21000+ 19950)
=Rs.40950 o
- Amount of claim = Rs.2, 00,000
 Benefit to = 200,000 - 40950 = Rs.159,050 Ans.
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- Q.5- M/s Rahlm printer purchases under hlrc-purchase- _

 -system.a machine from Lahore company on Ist

~ January 2000 paying cash Rs.10;,000 and agreemg

‘to pay thiee further mstalments of Rs.10,000 each

~on 31st December every year. The cash price of the

machine is'Rs. 37,250 and- the Lahore company

'_charges markup at 5% p.a. Draw table showmg |
mstallments (Prmclpal + Markup)

%lutlon- o |

L L ‘ Instalments o
S.No | Date of Payments Cash Price |Mark Up Princepal|
| I |DownPayment | 37250 | B

|on1-1-2000 | 10,000 | = Zero |.10000 |
S L S ‘
2 lLessPaidon a 27,250 27'250*_{'__ S
131-12-2000 | 8638 100 8638 -
- | 18612 |=1362 |
3 |Less Paid on - --'18612-.18612 S0
| 31122000 ) 9070 " 100 9070
o 9542» Zo39 B
4 |Less Paidon - | 9542 ) 458_ 9542
o .31-_12-2002 92 | "Rs..2750‘ | 37250
) NIH | R
MULTIPI.E CHOICE QUESTIONS
Tick the best chonce - o
() - (PLS) Saving account. was 1ntr0duced n

(@)’ Jan.1980 ()  Jan.1981
() Jand982  (d)  Jan.1983
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PSRN WPEER WS R A D - -

~ A negotiable instrument means
(a) Prom'is'so'ry' note - (b) | BIH of exchage |
. (¢J- Cheque  (d)  Allofthese
(iii) - I Riyal =Rs.22.400 Then Rs. 44800 is equal to
(@ 200Riyals (b))  2000Riyals
- (¢/  1900Riyals (d) 2100 Riyals
" Ifone dollar Rs. 84 100, Then Rs: 150 dollars is
equalto - RERRE | . |
(@ Rs12610 () Rs ]26}5
() Rs.12620 d)  Rs.12620
v In Islamlc Banklng, The words Proﬁt or Markup have
. beenreplaced with I
(@)  Benefit . (b) Loss .
(¢)  Imerest (@) Incrlment |
i) 'Slmple mterest for the mvestment of Rs. ] 000 for 2:
S years@ 10% per anum, is o |
" (@. Rsl00 - (B) Rs 200
() Rs300  (d)  Rs.250
Compound Proﬁt + Prmcpal | ‘
(a)l | Prmcxpalx I —ISL}TN-‘E .
. . L 100 3 -
T Time |
. <-_(b) | :‘Prn.lcjlpalix _]+ 100] |
R ‘Rate Tim"‘w X
(¢ Prlnl_c1pal >,<-_1 ]00] °
- e . - Tlme Ra!‘e
. (d)‘ PrlnCIpale] 100] , | |
The time period agreed upon by both the Parmes of
. insurancg is called oo o
- Aa). Time . '(b) . ‘Maturity

(/0 Rate = . (d premium_['_
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(ix)

T S

A car of price Rs. 12, 50 000 is- msured at the- rate of “'

45 0% P.A for ﬁve years. The premlum for 5th year i is

&

(@) 39237 (b)) 38217 .
() Zero - (d) - 39927
The Perlodlc 1nstalment to be paid by the insured is

- called

)

(xii)

(@) Markup: “(b) Proﬁt
(c) Insurence (d) Premlum o t o
The bank account havmg hlgh value of hqurdlty is

~ termed as.

(a) PLS Account - ) Sai‘iing AcCount
(c) Current Account (d) Foreign Currency Account )
-The return: earned by the bank is named as
‘( a) -, Markﬂup - (b))  Interest

(c) Proﬁ't" o ‘(d) Premium |

Q.1-

)

(i)

v

- MODEL CI.ASS TEST

“Tlme 40 mins .. Max Marks 25
Tich the best choice. v

*If / Riyal =Rs.22. 300 Then 1500 Rlyal is equal to

(Q) . Rs. 33250 -~ (b)-  Rs.33350 o
(@ Rs33450 (4 Rs33550
(i)

If I Dollar = Rs.85.200 , Then Rs.12780 is equal to
(a} | 1400 Dollars (b) 1500 Dollars '

| fc) 1600 Daollars - o (d) - 1 700 Dollars
The amount overpaid by the bank is called |
(@)~ Markup - (b))  Profit
(c) - Interest @ Pr1nc1pa1
The. retum earned by the banks on loan is na.med as
(@ Profit - : (). Markup

() Interest (@ - Principal
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(i)

T os

Qd-
- 2% for 4 years. “Find the total amount paid in 4

: Amount can be drawn trom any branch of a bank in

case of . | |
(@)  Current Accognt‘ (_b) '_ PLS AcCOunt

() Payorder . - (d) Onlinebanking -

If a car is insured for three years @ : 3/ Then the thlrd

: Premlum s

(@@1% (b)@z/ () Zero (d)@j%

.The time agreed by both the partles of an insurance

policy is called.
- (a) Tlme ~ (b) Period (¢ Maturlty (d) Rate |
Q.2 -

Attempt any five short question. |
Define "Negotiable Anstrument”. What are its kmds‘7 |
If the simple profit on Rs. 640 for 12 years 1s Rs.384.

. Find the rate of profit. =~ = :
- Find Compound Profit on Rs 4000 at 5% p a for 3 years.

Ali bought an insurance policy against his car @ 3.25

.~ for 3 years. He paid Rs. 26000 as Ist prermum Fmd
the price of the car. - SN

Define the terms "Insurance Pollcy , Premlum bonus
Convert 5,00,000 PKR into Euro if e
. If I Euro = [12. 4088 PKR .

- Find simple Mark up on loan of Rs 1 00 000 for 3
years @, 10% p. a’

'Attempt any two questions of the followmg r R
Find the Compound Profit of Rs. 5000 @ 6% p. a, -

For 2 years'compounded half yearly:
Ahmad insured his house worth Rs.75,00, 000 @

years while depreciation is @ 10% yearly. -

‘Amjad Purchased a truck on hire Purchase for .

Rs.56,000 under the conditions. o

" Each instalment = Rs.1500

Make a,table of instalments.

Rate of mark up=5% p.a

- i T a—— .
. - -



